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QRIHTHT F o e - Iustructmns Jor the candidates :

1. YITHTET OMR 3IW-UE UT ST 1. Candidate must enter his / her
Ty m%raﬁ FHlE (10 3FT F71) Question Booklet Serial No.

(10 D:gtt.s} in the OMR Answer

4 I,'*":{,l' :_rJ'T W?Efav_ 3'%’-'!? 4. 15 mlr:u!eq o

time™ have

e #5715 T T sn%'ﬁ?ﬁ been allotted for the candidates to
THT fegr 79T &1 read the questions carefully.

5 g8 49T Gika®i s @vel 4§ §— 5. This question booklet is divided
TUE-37 U @ug-a/ into two sections — Section-A

and Section-B.
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IV §9T § (7w & fow 5 o
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Iy Scction-A, there are
LOO objective type questions, oyt
of wliuch any 50 questions are
to be answered ( cach carrying
1 mark). First 50 answers wil] he
cvaluated by the computer in case
50

answered, For anstvering these

more  than questions  are

darken the crcle with blye /
black ball
correct option on

pen  against  the

OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail

etc. on OMR-sheet, otherwise
the result will be treated
invalid.

In Section-B, there are 30 short
answer type questions, ou!l of
which any 15 questions are to
be answered (each carrying
2 marks). Apart from these, there
are 8 long answer type
guestions, of which any
4 questions are to be answered
(each carrying 5 marks).

out

8. [&dl JHR & 3#@77%" JUFAU &HI 8. Use of any electronic appliances is
THFT JUIaET T & strictly prohibited,
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qUg - Iy / SECTION - A
ii S U7 / Objective Type Questions

T JEE 1/ 100 7% & gy & @rer = f@weq G0 70 & G & v&
wel &1 [#=T 50 vt & gav 34 a;w U Wl a%eq 1 OMR iz
g7 fafeaa &¥ 9 50x1=50

Question Nos. 1 to 100 have [5T7 options, out of which only one is
correct. Ansiwwer any 50 questions. You have mark your selected
option on the OMR-Sheet. 6? 50x1=250

)
7 [35]08 8-
o 53] © kgd .
]

i 6 O E
© |5 3 o. [5 9]

» [T o
w2 ©e [

6 8 14
. D 5 11
& [3] o [5 1]
¢
a2 ;
3. I_:ﬁcntx dx= (O ' 04
's i
0 <i:> B 1 .
< 2 (D) 3
94. Isinm 0 .cosec’ 0d0 =
{A] 0+c @ [B] c + cos 0
Qﬂ:} c~cos (D) sin0+c
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: j{suﬂl sec” [‘l—qmﬂnn H]dﬂ U’O)
\_%} ' (B) k+cosB

k - cos 0 @
(€C) 2sin®—tant+ (D) 2tan 6 fcos@ +k

j[—351nx-\¢4cosx Jdx = @
_/

(A) —3cosx-4sinx + k {B] —3cosx+4sinx + Kk
(C) 3sinx+4cosx +Kk »./(’Ef{ 3
1 ¢ 3x? @_
2 -

x3+5

(A)  log| x +5|+k@@ %Ing1x3+5[+k

(C) 51081 3x? | +k log| 3x* | +k

CDS X + sinx ’
sm X—COSX

(A) log| cosx +sinx | +k “Cg log| sinx —cos x| +k

(C) log| sinx | +k AN LE%)_ log| cosx | +K
w" .
j' dx  _ ), A
-
x“+16
A) StanlX +k (B) ttan'X 4k
16 16 @ 16 4
1 -1 X -1 X
2 L. D £
':[g 4t.'».m 4+k (D) tan 4+k

) 0 @ B) 1

(C) 2logs (D) 3log3
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(A) 3 (B) 3
oAy 8 o 2 -\
. 3
| N __
7 12. Isinax cosgx@ )
=1
@ oo () ®
c) 2 (D) 3 ‘
| : e
,913. Ix”cosﬁx @= O T
=1 'J 11
11 — o0
7 D) 1
(S ‘
i
0. $[¥x(@)- @ .
/2, 1.-
(A) %x”ﬂk | B) 2x+k
‘% %—;{3;2 +k (D} Ia‘fz +k w",
5 f x—1 @; @
'\91 ; 2 L '
x+1|+k
(A] lﬂglx_1|+k UB/ 10g|f+ |
2 _1|+k
. x=1,k (D) logix"-1l*
© log [ 7|
5 /32
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n trl
56 [

\ | .'-ll\"

(A i ok

LL//H."I. s
@ W (F Imu 2y, llil.‘\@
]

= R _k
Dy K djﬂ FFEH_L.E..T-I

(A Ree 4,
(C)  2scc2nt N @ (D) an2x+4 Kk

’PIH. -II ﬁ:-v: My !l.t i

Y
(A]  Btan8x 4 k @ 1) ysccBx+k
| 1 :
\ﬂ Lian8x + k (1) ﬁ-tﬂon + k
2
—p -» =
19, r'.{j—i}:@
Yy

(A} 0
(€ 2

o

/p 20. e =

(A) sin”T x+ Kk @ (B) cos”' x + k

an” x + k Y col”'x + k
k&’ tan™ " x + \\ CQHH/\\ coL™" x
0\

l!'l.lh

-~ cos2X L9 L 9x
(A} k-cos=3 @ B) k-ycos=X

=1L cog2X 9x
AF) "L‘T‘?C“‘r“l (D) k+cosT5
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25.

{’1] k ~5in'§ B) k uﬂcosg-
(€] k-leosX : -3
ECOSQ ~/‘(,/Bﬂ k+ 251115
213x
Sor A
13 13
(A)  18ianldx, 17 tan 13X + &
: ] 17 Tk % ptanTg7 +k
C 17 .. 18% .. _13 L 18x
) 13 tanT=+k (D) 7 anT= rk
_[2" dx = ~~ 7(\%—
— Ay
Ex-n-l /Q(\’
&) e \’ (B)) 2%log2+k
e © o
“er Tog2 " (B & txlog

jx(?x+11]dx=
< —
(A) - '?xz-r-lix-e-k @ L_ﬁ( 7I3+ 11x2+k
: 3 2

1 2
(C) 7x3+11x*+k (D) 7‘; ng

A Nt
Ie"[tanx+sech]@= c W/
/? e

[A] exsecx+k @ W Extanx+k
(C) e*sec®x +k D) e*tan®x +k

+k -
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6.

. 11x
11 13
11 . 1lx 11 . 1lx
(C) 13 sin—r3 _d@] 13 sm-——la
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(A 7x-1 i i
) @ ®
(€) 7" logx ugy 7. log7
; d
/> “f% ol 4—-{35} -
-
(A) = @ C/ﬂ’ L
(4 - x)? (4-x)?
4 -4
(€) -——[4_):)2 (D) (4—x)

,>35. ?Iﬁ x=asin2{], _I{jEI_COSEG o4 2
gg) -1 @ (B) acot®0
(C) by 1

tan” 0

dy .
If x=asin”0, ‘t,'=.m:05.2 0 then the value of E‘i‘i 1S

N0 @ (B) acot? 0

(C) tan®0 D) 1 i
) 36. el gl xdx + y? dy=0 1 & &

3
(A) x4y’ =k B 4L -k ov T2
‘ C 2. | i . ;

U 2.3
Lﬂ -2—+?=k (D) x‘y =k 73 Y
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Fhe solution of the differentinl equation x dx + y“dy=0is

(A Xyt ek (13) };+ Y _k
T o" T
- .1"-‘ !,"J 9 A -
L T =k D) xyP=k

(A) et +€2“—}'\ (B) eX*2y IR
{C] e®t -—»‘\.-f-e-zy @ e™ +%egy =k

The solution of the differential equation e*dx +e*¥ dy =0 is

(A) e +e¥ = (B) e*W_-g
(C) Y k+e?Y e* +———qu =k
39. e mfm 4x_ QY
3 | S, |
2 )'
(A xy=k '
L) x=ky D) x+ y=k
" The solution of the differential equation 515._51.3. =0 i
N Cv
(A) xy=k B) x-y=k
<€) x=ky _ D) x+y=k
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0. HEFA Hifpgy A HTe
./D; Hrfepo; .a%_ycy-z cos x 1 HHIFHAS U 2

—_—

(A) Sin x \M COSCC X
(€)= sin x (D) g4H | g qE
The

INtegrating  factor  of the  differential equation

dy
dx YColx=cosx is @

A 51
(A) sin x B cosecx

(C) —sinx (D)  nonc of these
41. FEHA g Y, 3y _ HATREA TV >
I N i ?

R
w2
o (B) 3logx
€ x° (D) I H &I T @
The integrating factor of the differential equation
d 3
—y+-—y-=10x is
dx x

AT % @ (B) 3logx
C 3 (D) ne of these
— 2

?42. {I'—j+£i_}’<5i:

(A) 5k +5] @ B) -Sk+5)
' - - P =
(C) 5k-5]J wﬂ’f 3L

TH3. |-I?—2/_J?—QEI = @
") S S
@ (D} 7

4 3 q
-15=0%aﬁﬁﬁ$ﬁ€5mj
944. aa @j@* T
234 o
D) 2,3,15

c) 2,415

Page 11 / 32

602/12017




(121/327 ]

normal  to  the plane

The direction  ratios  of  the
2x+3y+4z+15=0 are

(A) 2,3,4 B) 3,4, 1
(C) 2,4,15 (D) 2,3,15

45, WL @2@”"“-—:%‘5 o fut s &

(A) 17,15,13 <j::> fjmﬁ; 11,9,7
(C) 17, 15,7 D) 9 11,1

x-17_y-15_=z

*-.]l

The direction ratios of the straight line 1 - 9
arc

(A) 17,15,13 <Z;:aﬁﬁ 11,9,7

(C) 17,15,7 (D) 9,11,13

— -2 z+3
46. (Eé& x— Ll ¥—=_

(A (1,2,3)
€ (2,3,4)

Through which of the

I2_1=y;2=z:3 pass ?

Sferfaa o forg fag & o0l € 2
‘ (1,2,-3) @
(D) (1,3,4)

following points does the line

Ay (1,2,3) B) (1,2,-3)
€ (2,3,4) D) " (1,3,4)
- — - - - - ﬁ
i947. (3:—J—2h}x(qL;3j-nA)= 6)
(A) 137-4 -7k B) 11i+2j-5k
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48, qln"f-'-e -
Al G Y
X

cas I—E
1

& b S

,bql; éx %W,\(\L

(
) XCOS X+ sinx B} 2sinxcosx-sinx

(C)  2sinxcosx+siny ° {D] —sin® x+ sinx

0. ‘ @
[C] COS X —cos X

,?51. ,,Elmwanm 5,8 quU)4/10,)x B x H__
W%
(A) 4 (B) 10
If the direction ratios of two—pardllel lines are 2, 5, 8 any
4,10, xthenr_hew. of x is
(A)
() =

: qﬁamr@maﬁwﬁm T Yy, 2F

@DE.
(A) ax 0
s {D] ex

ey cy
If the direction ratios of two parallel lines BE a,5 CEn0G. g2

then bz =
(A) ax

© oy

— 602/12017
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: . ] . amﬁ,a,x%ﬁ'lxur
53,  afe @ wop e wisi & GE FAT_4, 2 3 a7 o
A
I

(c =8

If the dircction ratios ol two mumal_]}' perpendwular lines be
4,2, 3 and 5, 8, x then the value of x1s

(A) 12 B) - 12
(C) 8 D) -8
2) 54. 1T+ +k]|=

(A) 3 @ LAB‘P V3
(c) 2
,1755. [3a-1 4]-[2ﬂ+6 b—l]:@
(A) @ (7,5)
(5, 7)

- (©) D) (2,5)
£ Y3 \5
,\756. ijﬁl’i O
By 0 | B) 1
(C) 140 (D) 235

\@0 =1
‘w.w:)%
R




T

qmﬂ Lowr

[121/327 |
)

(A) O ﬂ 1

€ -2

(D) 1

% -_2 )

2]

2 -2 [y 5] i
4 ® |5 3 X
] _

4] |

| S
© |2

2 60. [3 -2]

M/ [3 -2]@

o [1]
~1
T61. [a][1 -1]=
]
W Bl e
©) [_g @ [o]
» o i 3 15] (B) > 13]
o -6 ® ]
o [3 g] (D) :_2 S]
- Page 15 / 32
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éjblﬂlfﬁz?]

j‘g AT s 18 _1_;__2‘ __I,J'E"_"U/T-L }FT,H}EJ\—* 1 'Hiﬂffmﬁ
By, o8 (i::> (B) 114 fi)
ﬁ 76 \P( (D) 190
The maximum  value of Z=2x+y subject to constraints
X+U<38, x20, y20 is
(A} 38 By 114
€y 76 (D) 190

04. FEUHl x+y<9, x20, y20 & I

7 =3x—y F AlaEwm g ?

(A) -9 Lﬂ 27
(C) 18 (D) 9
The maximum value of Z=3x- subjeect  to  constraints
X+y<9, x20, y20 is @
(A) -9
(C) 18 D) 9
) 65. —W_ﬁQx—wy, x20,y2Q % 3iaT'rﬂ_/2=x+3y : Bich:
Ay 7
(C) 13

The minimum

value o subject to constraints
2x+7y<l4, x20, y20 is
A7 B) -6
(cy 13 (D) 0O
602/10171— Page 16 / 32
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r’j)ar. | x| <L tan~! _2x
— 2

l-x/

(Al 2sin! & (B) 2cos™ x
/y 2tan! x @ ol

(D)

(A) O
4
© =
7‘769. x>0 cot” x_ \//
(A) tan” x—— sin"! L
+ X

11 ! L
[9 tan ; . (D) cos =
-570. y’l[cas%ﬁk

@ =

(C) (D)

A

X
3
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_,DTI. ﬂ“-m l_ii@

e Sl

1
© 3

’??2. sin” { "__)'1“- X } @
(A)  sinT'x +sin7y LM sin”! x —sin”'y

(C) sin'x-cos™'y (D) cos™'x ~sin"ly

/D?S' xE[ 1, 1], cos[ 2 (sin™! X + cos” x}]_

(B) 1

R,

XeR, sm —w[tan X +cot” 1xj:l

-
(A) ‘E, O \/QB 71_2,
© & 1
P75, | x|z, cot( sec/“ x +cosec™'x | =
(A) 0 | (B) 1
© % @ |
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ADEQ-
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l.'tl " ] b B i e l ‘
bt A -'r"‘ " .lm:'{" Iy
" \

- - aman ¥ :
SeEoN (1 Y10t 4 sec3xtandx

f
—— y 3
i lh”""""k"-‘ﬁﬁk 411‘)-_

L -

» b I — =
‘.\\' -.‘-,ﬂh..?l +."hl:’|~.\|1+l1" \M 2(‘{]52":—:;5][]‘1'\ 3 r,.

] 3 | ‘
- =CoS2v-3cos3x+e! (D) —-2cos2x-3sin3x+e’

d { 1
" = ) .
dx L Dl W

o Ty O % sec2xtan2x

(C) tan- 2x sec” 2x

s (Inp‘” 3/\ ) =

X

(A) f; (2;) B)  3x
| wa':ﬂ/

Eﬂ% ‘% (D) x cb

a1 Tx— By+9.z ::EITIHFF{UEHF{W
— —
(A) Tx+8y=+9z=35 dg/ 7x—-8y-9z=12

(C) x-ABy—Qz:: 12 @ (D) 7x-8y+9z=2

Equation of a plane parallel to the plane 7x-8y+9z= 5 is

(A) 7x+ 8y+9z=29 (B) 7x-8y-9z=12

(C) x—-8y-9z= 12 (D) 7x-8y+9z="2

Page 19 / 32
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A o

7 B) - 2

W 75 @ e
) 1

(C) = (D) ia

. -7 from origin is
The distance of the planc x+2Yy +3=7

3

3

A T s
1
2 D)
0 = (
U v ia
82, (2i-9KP = <§g>
Y 85 (B) 45
(€ 121 (D) 49
83. wiew 5i+6 ) @ femm i afew &
D =~
5i+6] gy Si+6]
(A) = @ B =L
| 5{46 j i 46 ]
——ti Dy 22310
S 761 (D) o7
The unit vector in the direction of vector 5"1? +6T}' is
57 +6 sTies
I +6 j i+6 ]
a) B
(A) 11 (B) i
o P ‘ <7
L+0J i+6 j
¢ =7 (D
' 602/12017 Page 20 / 32




—* —
{

o (7i-8j-k).(3i-j-k)=

A) 27
’ G o
C) 29 4|EiiIEIII"

85. HHAA 3x+5y+72z=210 GHI 2-378 W &I T4 AdEUZ ?
(A 39 B 35
© 70 (D) ¥ F P1E T
The intercept cut off on the z-axis by plane 3x+5y+7z=210 1s

(A) 30 A

30
(C) 70 (D) none of these
86. Ul @1 ax+by+cz+d=0 1 TOTHR 1@l é—=+y—=—z— Z

-3 -4
(A) 2a+b+c=0 (B) 2a-3b-4c=0
(C) 2a+3b+4c=0 (D) 3H | H1E AR
If the line i2‘5=_%;=% is parallel to plane ax+by+cz+ d=0 then
(A) Z2a+t b+c=0 (B} 2a-3b-4c=0

(C) 20+ 3b+4c=0 (D) none of these

g7. dfa AN 3x+4y+52+11=0 quqT ax+by+cz+d=0 T o= 7

al
' 3 4 _5
(A) 3a+ 4b+5c=0 B >=3=2
(D) Tl § FI8 T8l

(C) 3a-4b-5c¢=0

Page 21 / 32
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| 12 /s Y27
ax + by + ez + =g 3 ‘
[ ."'l'-

(A
If two planes 3x4Ay+5z+1 =0 and
mutually perpendicular then
3 4 _5
b ¢

(B)

4 e

2l

(A} 3a+4b+50=0

(€) 3a-4h-5c=0 none ol these

88, (?:+J+/L(,+j+7;\]_
(B) 14

(A) 13

L PENF) _—-:» P(E/F)=

|-n
IH

8. P(E)=i%, p(R)=LL,
pI5 1
L3 B PLene)
i
I N Pley
9. PA)=2, pp)=T - i
; = [B}:E, P(AUB]=-1-§=:~ P(ANB)= (T
2 I
- . J’:
e
@ 3 B = )
3 N
(C) 13 (D) -1-2-5

ﬁ?ﬁazqr
3T|r A 3ﬁ'{ B a;/__‘__E_(ﬂ} 07 p{B}=U-4/'("f]

4>91.
P(ANB)=

oo W

(C)
502/’120]7 Page 22 / 3_2-
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A

02,

I"*” “"-h‘“t‘” l'l
{ .I-” ("h"‘l‘t‘i .1 ]|| [ I I ST Li
| i “I ]" !I[ 11' [.l # . ;"‘.").fl
] L .fl Ill‘!‘j

P{A )
O then

- (13) 03
(C) 028
(1) 05

4

RS \’-I : :
(\.{\t | 5 4 ’ h] Huld < al 'J”U','.[E.l B
} \
(A) . "q] 4
|- O 2 (B) [_ 3 & :3]

L | ‘
< 13 o [3 4

Adini :
Adjoint matrix ol matrix I:J 31
1S 4|

: [ 4 -3
(A) _5 2} _ (B) [ 4 _5]
B -3 2
~ 4 B -
(€) -J 4 3
3 2 O |5 2]
afe ws T@ @ feE FE
'“'14 " J149 140 &1 Teh
oM
(A) B 2
c) 3 (D) 4
[f the direction cosines of a lin¢ be _-1%5, _;_i-é— and 1-’:'49
then a value of x18
A) 1 (B) 2
(D)

c 3
o hage23/ 32
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iy,

PAVHPYN

LI é&i 1' IR

(A) A

{‘ “]] .r"

I Ilu e the vadoe ol

(A A (ty A
(C) d A (1) A

Al o aobear ob A iBma LA (Lo2)oed -

(A} 10 1y 1

e (D) sl A g Tl

I the operation ' o' is defined as aob=a+2b then (1 02) 03 =
(A} 10 B 1l

(€) 12 (D) none of these

ufd Aw{1,2,3) a8 Beja,b) @AY BA BE gl 6 g @

(A) 2% B) 27
c 2° (D) % | & A€

I A= 1,23} and B={a,b} then the number of distinct
relations from A to His

(A) 2% B) 2

(c) 2° (D)  None of these

E.lDEr"I].EOIT Pagf 2 JLA 3}




-3

98.

99,

100.

‘ [121/327]
afe A={2,3,4}, B={1,5) 4 A § B 1 el i g@q1 2

(A) 8 B) 9

(C) 64 (D) 379 F w1 T

If A={2,3,4} and B={1,5} then the number of functions from
Ato Bis

A) 8 (B) 9

(C) 64 (D) none of these
HIHA FHHUT dx—dy=0 &1 T &

(A)  x-y=k (B) xy=k

(C) x+y=k (D) x=ky

The solution of the differential equation dx—dy=0 is

(A) x-y=k | (B) xy=k
(C) x+y=k (D) x=ky
I @ )
(A) O
© 2z RE =
i
¥ 2—"
§ @ 2
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A=

E CT[GN - B

~u | SE

P o LI

@ Ity uvr / Sh

Uy §Er 1% 30 dqa g 30 T
oy & v 2 sfF Fraffea 1

Question Nos. | to 30 are
- . - rh (S
15 questions. Each question carr

. drj I

L. afe y= -sinysinyx s H
= ) dy
If y=sinysin Jx then find T

“ {x
2. &l i ; i .
"-x[l+ log,, x)?

dx
Solve : I —
x(1+log, x)

Short

3. mwjm

Integrate :

[

4, T+ Icusx .cosSxdx.

Integrate : Icnsx .cosSxdux.

HHTHE T d
--—-——5'—‘- hAR IS-I—4C{)5{]'

do

Integrate ; | ———
b 3+4cosl)

b secxdy
6.  HYEHEA HL j' ¢ .
SCCx —-tanx

_———

s5cc xd;
[Integrate ; _[ xdx

Secx —-tanx -

stions
t Answer Typ® Que
or

c o T 15 07T & 377 T1 gy
15 x 2 = 30

Answer

g 2 marks

Arstirer

15 -2

ﬂrrll.

o
0

ba
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L = | r
. Imn x cos® X dx 1 9[ 71| % .
-1

Find the valye of Isin” x cos™ x dx.
-1

¥ ]
bt

xdx
j H WA I T

ﬂ+\.

|
N rdx

Jf: 2
Dya +x

F1 0T 7E WL 2

Find the value of

-

= lj-" tanx dx
e tan x +cot x

x/2
Find the value of I tanx dx

o tanx-+cotx '

10. & & (x7 = x%y)dy+(y° +xy?)dx =0. ' 2
Solve : (x2 - xgy}dyﬂy:’ +xy2}dx =0.

11, afg x2+y° —xy‘rﬂ Y s =il _ 2
25 T dy
If x~+y~=xy then find e

12. & HL dy+n£—=\:”'. 2
dx

Solve : Ey.+,1£=x"’ .
g "X

_ ..8inx Ef_ 2
13 ARG y=x""% d@ 22 Tl

: dy
_ .sinx . .
If y=x then find dx

e




B i L

14.

1 &

17.

18.

(1217327 |

Pad

dy T
uﬁ x=af(t+sint), y=ﬂ|:1“'3°5” al dx LA

., dy
If x=a(t+sint), y=a(l-cost) then find i

Sy 3x+8ys 48

xz20, y20
o A Z=x+Yy 1 37liRan g 04 HL
Find the maximum value of Z2=x+y

subject to the constraints 3x+8y=< 48

x20, yz 0.
X+ y+Z Z+X - )
= X Yy ™! H1H F1d Hi| -
1 1 1
xX+y y+z z+Xx
Find the value of the determinant | 2z X Yy
1 1 1
1 -2 3 : s /
afg A = , B=|-1 0| @ 3fg @wa & ( AB)" Hd
ol 2
1 -2 3 S /

IfA= , B=|-1 0| then find ( AB)’ il possible.
- I e T S S SUPIE T S
g wifwafgmi 27 - j+k, ( -3j-5k 3N 3{ -4 j-ak w5
Rt Bryst g4rd € 2

e B S J—. -
Prove that the vectors 21 - j+k, i =3 j—-5k and

—

-k -
3i -4 j—4k form a right angled triangle.
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A

— -5 -
0. R a=3i-7j_9

20.

[ 1217327 |

o

-4 - - . = =4 -
C AT bh=d g 48 j+ 3k A ax b 4RI 2

b -k -3 - *

fa=31 -7 j)=-2k and ‘b=-1_| + 8 ;4 .'i.;\. then bind o b.

- . )

- b - — -b - - -t X .
afe a=141-5)+9k, b;;;_:'q--g_;-k_ c=51+12j-3k I

7a-2b-c| 7@ ®i| 2

If a=141-57+9k, b=3i+2)j-k, c=5i+12, -3k then
— =¥ —5

find|7Ta-2b-c

?%aaﬁﬁaw;mdr{_171=5mx,[;;,x)ﬁﬁﬁr' T BEYHE 2 2

Prove that the function f(x)=sinx is strictly decreasing
n L% rr].
% x=acos° 0, y=asin®0 H H:% W sifiena &1 JEuiEr 3E w2

Find the slope of the normal to the curve

x=acos” 6, y=a sin® 0 at U=T}'

FE & +: R x Ro R Us salgug fganurl d@fwn 78 2 2

Prove that +:RxR—- R is not a commutative binarv

operation.

[ o)

tan~!(—1) &1 & 4A 74 H

Find the principal value of tan™! (=1).
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A 2

E - LAY |1 = 1.
) I - . | == J
25. [H;J &l [ 2an by =sin 2! | & |
\ 1|+ X

I l—-:.l—&:-fll'l!:;l.

Prove that 2tan™' x=sin =
|+ X

—y-i—(g:—k]z:ii e

ad (k+1) X i

2. K @l dg Wl wa @t EE
2y+0Oy-z+3=0 WA el

: —y+(2-K)z=5 is
Find the value of k so that the plane (k+1) Xx=Y [ J

perpendicular to the plane z.x-+ﬁy-z+3:0'

7 At (2,-3-1) AR 2

2 -3,-1) from the plane

—

— - —r
27. @ r.(2i-3j+6k)=

Find the distance of the point (

—

- —5 -3
ro(20-3j+6k)==7.
I X, !
28. e el X2V 22T qun

T HL

_Y—2_ 2z ¥ [gug A
---2
2

| %

Find the acute angle between the straight lines
x+2 y+3 z-7 x y-2 =
o R T L e

29, w61 € el 4 @ U @ Th qur Igwsdl Gial 9 &1 §Fl 6 i
g =Rl yifaeRar 3\ 2

One card is drawn at random {rom each of two packs of cards.
Find the probabilily of being both of them, black.

30. UH fgE & o9 an Iuen s 81 S 1 i 3 1 wilesa 3 w1

2

A coin is tossed three times. Find the probability of the
occurrence of one head.
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219 3G W97 / Long Answer Type Questions

o T 31 W 38 Ft Terdiy v 1 3 A F 4 Al 6 I G ) D
% foru 5 3 fuaifa 1 4x5=20

1swer any

Question Nos. 31 to 38 are Long Answer Type questions. Ar
4 x5=20

4 questions. Each question carries 5 marks.

"“\31' & W [x:+y:]cly='\y dx. S
Solve : (x* +y~ )dy=xy dx.
‘\%2 fig = % tan™ 1+tan"12+tan'13=n. S
Prove that tan™' 1+tan™ 2+ tan™' 3=n.
~ 1 -1 2| . . . a
33. Ife =R A=|0 2 -3|d@ g H & |adjoint Al =|Al*. 5
3 —2 4
1 -1 2
If the matrix A=|0 2 -—23| then prove that
3 -2 4
|adjoint A| = | A[®.
34, ARG Myt =(x+y)™t" A g—% A B 5
Lr N ] mi+n dy
If x"y" =(x+y) then find qe

35. < UrEl @l Hed I A x TE! H T Bl AW B Al x FH TGl G
EitieRd 5
In throwing two dice if x denotes the number of sixes then find
the probability distribution of x,
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Z=3x+ 2y w1 =gl w q=E
T+ 28
Jv+35y<15
X, y20
Minimize Z=3x+2y

subject to x+y28

cos2x

— dx T W 71d | S

o [sinx+casx)”

n/4
Find the value of [ —C0S2X __ g,
o- (8Inx +cos x)

-~ - —+ 3 = = -+ -+ = -+ -3 = -
38. TR a=i+j-k b=2i-j+kTM c=1+2,+3k @
-+ = - "
(axb).c HTHA AW B 5
— -+ = =3 = e —* - — —
Wa=i+j-k, b=2i-j+k and ¢ =142 j+3k then find
e "
the value of (a x b). c.
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